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= 154,800
z 7,311,700
=2 20,000
= 4,269,420
= 9,735, 189
F X OHE 3,287,768 9,085,268 A5,797,500
= 1,780,000
= 1,507,768
e 2eopg 700,000 5,577,000 A4,877,000
SIEMYUAEHIAIY 2 9 X2 700,000 700,000 0
401 Al&H| L2 700,000 700,000 0
01 Al&H 695,590 695,590 0
OSHYTHIAIY PEAXR(7HH)
695,590,000 695,590
03 AIEE204I 4,410 4,410 0
OSHYUTHIAIY PEAXNE ALY
700,000,000 %0.63/100 4,410
=== P 334,000 312,000 22,000
oISy =4 240,000 240,000 0
402 BIZHXHE0IA 240,000 240,000 0
01 QI2IXt=E X 240,000 240,000 0
OHE F&0IES EXEX 20,000,000& 20,000
OF4a ¢nitg XA 20,000,000 20,000
O2% =202 FNAX 20,000,000 20,000
OIDHM &=LH0tE2 HEXUEX 20,000,000& 20,000
Ofd 202 X4 20,000,000& 20,000
Ootel DEs ¥ER 20,000,000& 20,000
Ooga MF0t2 AXEX 20,000,000 20,000
Oa A0S A IHAX 20,000,000 20,000
O AENE BUAX 20,000,000 20,000
OJIX Hst=0tg AR 20,000,000& 20,000
OJE =02 X4 20,000,000& 20,000
OJtE =202 3X&EX 20,000,000& 20,000
sE0IS HASZE &X2e 94,000 72,000 22,000
401 Al&HI L 20 94,000 72,000 22,000
01 Al&HI 94,000 72,000 22,000
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8,000,000 8,000
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ODt2l FU0S HASTE HH 2 &
10,000, 0002 10,000
Oal HB0IS HASZS X1 8,000,0002 8,000
OlE £CI0IS HASZH X 8,000,0008 8,000
OJ}= HBOIS HASZH & 8,000,0008 8,000
OJ= WEDS HASZS &3 8,000,0008 8,000
AR XK 2,253,768 3,196,268 ~942,500
= 1,780,000
= 473,768
sEaATY| 1,987,848 2,200,000 ~212,152
= 1,780,000
2 207,848
401 Al&HIL 20| 1,987,848 2,200,000 ~212,152
= 1,780,000
2 207,848
01 Al&H] 1,980,000 2,200,000 £220,000
OUE=2n &X 500,000,000 500,000
= 300,000
2 200,000
ORIt 300,000,000% 300,000
= 300,000
osis0tg g+ F| 100,000,000 100,000
= 100,000
O=® MEZ 200,000,000% 200,000
= 200,000
O=20t2aE ¢ AFXNTFY 50,000,0002 50,000
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= 50,000
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OZEit= =2 &l 30,000,000 30,000

& 30,000

OdgitsetZd 2 d 30,000, 000& 30,000

& 30,000

OAdsits 5 === &l 20,000,000& 20,000

& 20,000

o=, 3H=s=28HI 30,000,000 30,000

& 30,000

O&st 28 8+2 &l 40,000,000& 40,000

& 40,000

On&its =2 &Yl 30,000,000& 30,000
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o230t s2 &t 20,000, 000& 20,000

& 20,000

ot s2 &4l 20,000, 000& 20,000

& 20,000
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= 30,000

O&=0ts NMAEEHI 20,000, 000& 20,000

& 20,000
03 Al 20| 7,848 0 7,848

O=s=stZ 38l Ald=2Uid]

2,180,000,000& *0.36/100 7,848
FoUHAAIY =& 265,920 996, 268 AT30,348
201 LBt 3| 4,696 3,696 1,000
01 AFR 22| 4,696 3,696 1,000

OF=3=3:] 4,696

odEYMHE HFFA A 4,696,000 4,696
202 (48l 6,424 4,672 1,752
01 =LHA b 6,424 4,672 1,752

O =4 6,424,000 6,424
203 HRF&H| 3,000 2,700 300
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401 A& HI2 S 251,800 985,200 733,400
01 Al&H| 250,000 985,200 A735,200
OAFRE WE AP A(13J44) 50,000,000 50,000
OARD FOIEHA A 200,000,000 200,000
03 Al& L 1,800 0 1,800
OFRIEHAALA AIE2OHbI
250,000, 0008 %0.72/100 1,800
HF=HX S FHI 842,318 848,288 25,970
= 154,800
[ 17,200
= 670,318
BIHUFHIY XA (UTHNAX DAY SE35H) 653,118 568, 100 85,018
StEeFIIY X 653,118 568, 100 85,018
401 AM&HIL 2048 653,118 568, 100 85,018
01 Al&H] 649,003 564,520 84,483
OB MSFTHIAX 649,003,000 649,003
03 Al& S 4,115 3,580 535
OAYAFHIAXA ALY
653,118,000 *0.63/ 100 4,115
A HYl 189,200 280, 188 90,988
= 154,800
= 17,200
= 17,200
BRI FY 189,200 280, 188 90,988
= 154,800
[ 17,200
= 17,200
308 XX HHSO0IA 17,200 25,542 A8,342
05 RHXIEHHI2tR 3 17,200 25,542 A8,342
OgdE=HASHY MHXHA2t FE3
17,200,0002! 17,200
401 A &HIL 2048 172,000 254,646 AB2,646
= 154,800
[ 17,200
01 Al&dl 170,761 252,812 82,051
OFHAFHIAHEI(5MS.H)
170,761,000 170,761
= 154,800
[ 15,961
03 Al& S 1,239 1,834 595
O F=HIAZH AILRUb
172,000,000 %0.72/100 1,239
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OFFIILSHE ALSUY]
1,443,000,0002! *0.36/ 100 5,195
SE0E SN 4,197,400 3,384,300 813, 100
=l 2,915,500
= 624,750
2 657,150
201 Ygreg| 9,000 3,000 6,000
01 A2t 9,000 3,000 6,000
OHIIXIE ME 3,000, 0002 *37} & 9,000
207 ALl 7,500 5,000 2,500
01 HRgoy| 7,500 5,000 2,500
OZe|MEH0l& HE 2,500, 00024 *3H 24 7,500
301 LPB A 15,900 5,300 10,600
10 BAHAHIE A2 15,900 5,300 10,600
OHZEX 28t 50,000 %3023 x23| %304 24 9,000
onsHEEls HHLL
10,0002 %3023 *35| %304 &4 2,700
OSJIatnSs &AL+
70,0008 %102 x23| %304 &4 4,200
403 XX GRS XH2 0/ & 4,165,000 3,371,000 794,000
=l 2,915,500
= 624,750
2 624,750
02 2IIZSOTHEHCHE AL b 4,165,000 3,371,000 794,000
OFHAY SENSTEMLAY
1,361,000,0008! 1,361,000
3 952,700
= 204,150
2 204, 150
OBUDIAY SEONSESML AL
2,804,000,0002 2,804,000
3 1,962,800
= 420,600
2 420,600
SCINER-T] 450,000 200,000 250,000
= 300,000
2 150,000
401 Al&HIL 20| 450,000 200,000 250,000
= 300,000
2 150,000
01 Al&| 447,840 200,000 247,840
OBSXP S+2FH| 297,840,0002 297,840
= 150,000
2 147,840
OSZUAT g 50,000, 0002 50,000
= 50,000
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S Tt

SEPIEONERE T
Sl SEMBEY I (e @8
SN EB -GS - MBAY - BES 0 & 24 e HRE2
ORABIEE et 50,000,000 50,000
= 50,000
OBSOIS 23 L 842 A 50,000,0009 50,000
= 50,000
03 Al& S CH| 2,160 0 2,160
OBISXT 842FH| A2
300,000,000% x0.72/100 2,160
21 220AE |HL 45,000 57,260 A 12,260
= 20,000
2 25,000
401 Al&HIL 20| 45,000 57,260 A 12,260
s 20,000
2 25,000
01 Al&| 45,000 57,260 A12,260
22|22l A ST 221 (1050 2)
45,000,000 45,000
= 20,000
2 25,000
H4X |X2e 250,000 250,000 0
401 AEHI LS 250,000 250,000 0
01 Al&| 248,560 250,000 A1,440
OMSX 271 (1394 4) 50,000,000 50,000
OMX S22l (100H2) 198,560, 0002 198,560
03 Al& S CH| 1,440 0 1,440
OR%X |22 ALLHY
200,000,0002 x0.72/100 1,440
S[IONPERET 949,452 906,700 42,752
201 LByl 4,196 3,196 1,000
01 AtR2elt] 4,19 3,196 1,000
o3| 4,196
0S2IIE ALEX OHAH 4,196,000 4,196
202 01t 5,256 3,504 1,752
01 =2Uloibl 5,256 3,504 1,752
OSIIPAY HREX 5,256,000 5,256
401 Al&HIL 20| 640,000 600,000 40,000
01 Al& ] 640,000 600,000 40,000
Ot ol CHYl SRRIBS Y I 2EASY
30,000,0002 30,000
OF2IA LB &AL 100,000, 0002 100,000
O%elA4 RX2e 300,000,00024 300,000
OQLPRH WL (72) 210,000,000 210,000
403 RHXISHH SR 20 300,000 300,000 0
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Y SIILAIL &5
el sEMEEE MY (&8
_ P NE e
SH-EFHHA(FA) - NIRAE - BES Ol AFoH @Eiﬁ HusZ
02 ZI| 2SO0l CHEHCH & AL HI 300,000 300,000 0
OJEXFZ2| A& F Y 300,000,000 300,000
ARE SHHY 3,000,000 1,400,000 1,600,000
z 2,000,000
< 1,000,000
401 AlEHI L1 3,000,000 1,400,000 1,600,000
z 2,000,000
< 1,000,000
01 Al&H 2,989,200 1,394,960 1,594,240
SERXP sESESNLE 1,494,600,0002 1,494,600
z 1,000,000
< 494,600
OUSX? SEEFNY 1,494,600,000 1,494,600
=z 1,000,000
< 494,600
03 Al&Z=0HY 10,800 5,040 5,760
SRXF SEELSMY AE20YI
1,500,000,000& *0.36/100 5,400
< 5,400
OUSXT SEELMY ALL201
1,500,000,000& *0.36/100 5,400
< 5,400
JIEtAIE R XI2te 128,850 72,850 56,000
201 LBty 128,850 72,850 56,000
02 I32gH 128,850 72,850 56,000
OJIEHAIE gXI2e 128,850
o=YURL SEAA 242 (1000HA)
10,000,000 10,000
o A& &Hl RXIH 118,850
— L& (260H) 1,300,000 1,300
—EZ(1050H) 2,100,000 2,100
— ALK (287HA) 28,700,000 28,700
— UL ZAILRSXIHI(31IHA) 9,750,000 9,750
-2y, g2 I SMYI(T0HL)
7,000,000 7,000
—=U22F £ZF2H HHI(100HA)
7,000,000 107K £ 70,000
C2AHe o e 4,978,182 6,714,081 A 1,735,899
=z 375,000
= 4,603,182
CZ 2H4A 3,900,000 5,700,000 1,800,000
2C & -2 1,630,000 3,980,000 ~2,350,000
401 AlEHI LS Hb] 1,630,000 3,980,000 2,350,000
01 Al&H 1,624,600 3,966,320 N2,341,720
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Gel: T2 AH (el &
_ _ SN E N
A -3 -H2A(SH) - HEAMY - BES o oﬁ/ﬁgj Hlns2t
O2C & TE(2MA) 1,494,600,0002 * 14! 1,494,600
OF& waae|(26m) 30,000,000 *14! 30,000
O2& SXI=24(88kn) 100,000, 0002 * 14! 100,000
03 Al =0l 5,400 13,680 8,280
O & I& AL
1,500,000,000 *0.36/100 5,400
HEC2 & - 1% 2,270,000 1,720,000 550,000
401 Al HIL S HY] 2,270,000 1,720,000 550,000
01 Al&Hl 2,262,440 1,714,600 547,840
OsHEZZ & . Z&(3MA)
2,092,440,0008 14! 2,092,440
Os0ET2 w22 (87Hw)
70,000, 0002 * 14! 70,000
OsHEZZ S XIE4=(273km)
100,000,0002! %14 100,000
03 Al =20l 7,560 5,400 2,160
OS0ET2 & IXH AZ20Y
2,100,000,000%*0.36/100 7,560
T2 22 259,872 260,453 AB581
T2 |22 259,872 260,453 A581
101 @124l 95,703 95,184 519
04 JIZtHM22HSES 95,703 95,184 519
O2C WESLXA LAAIA QIR
35,2002 %274 = & x2ZH 31 CH 5,703
OZ2HEHID| LA
250, 0002 *360km 90,000
201 ety 95,349 96,729 A1,380
01 AFR22/dl 5,468 7,608 A2,140
o= 5,468
o222 YRR OHAY 5,468,0002 5,468
02 B329Hl 89,881 89, 121 760
023282 2 MAl 6,490
oXESXM(UESES) 180, 0002 *2H 360
oXESXM(AESES) 50,0002 *3CH 150
oNISA ABAR 40,0002 *5CH 200
oXISA BER2 5,780
—L2832 400,000 *3CH 1,200
—-gss 2,200,000 »2CH 4,400
-5 180,0002 *1CH 180
OANEHHISXIH 26,651
oT2RAA2IE XM KXY 11,000
—|XEL 100,0002 *10CH 1,000
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my: c224 9 22

== =

el =2 2el (&9 &)
S BB SR (B) - NEAY - BAS 0f & o Soe DB
—==U 1,000,000& »10CH 10,000
oultHHEE =5J| bl 500, 000& »2CH 1,000
odoiCH® Sefa®)| HHl ¥ |RFUH 3,990
— &l 700,000 *3CH 2,100
. 1,500 %7 £ *2CH+902 1,890
0 T2 EHIII BUISXUI(12HE. o)
53,0002 % 187km 9,911
o2& 3ae! ZHl 250,000 *3CH 750
OXtEtl 56,740
oAE3t=E 2,500,000& =34 7,500
oHEsES (=288 GZEH)
11,120, 000& ~2CH 22,240
oMsL 23,000
== 1,500,000& 122 18,000
—==c/Hl 5,000,000& = 1CH 5,000
CTERANB2Z SBRY (&, b AUE
2248) 4,000,000& 4,000
202 O 6,320 4,320 2,000
01 =LHOHI 6,320 4,320 2,000
O=ZAY 2= 6,320,000& 6,320
206 M=l 24,800 21,520 3,280
01 =4l 24,800 21,520 3,280
OEzgXzel =27 24,800
o Zat&EsE 11,0003 *1,500% 16,500
ORHEZ ALE+E ME 13,0003 «500% 6,500
o YEANE HILEFE 7 180& %10,000& 1,800
405 AHoHESHI 37,700 42,700 /5,000
01 MM =ESFSHI 37,700 42,700 /5,000
OoxzrX&cg =25 7¢ 37,700
o E2RA2ACIE JNAM 7
450,000 +6CH 2,700
o ZHIRAE HM=Jl +& 35,000,000 1CH 35,000
NEX DSEF A 750,000 699,000 51,000
= 375,000
= 375,000
FEEE 2IIH 600,000 620,000 220,000
= 300,000
o 300,000
401 AIEHIZL 20U 600,000 620,000 220,000
= 300,000
= 300,000
01 Al£Hl 596,220 616,094 A~19,874
OfIgEg A 596,220,000 * 14 596,220




S HED
Ha: 28 o 2

o2l XSt E%grg & (9 E2
M- ®=Z . Che (5 NEAY . B2 Al OH HEE Hl =2+
Z 300,000
[ 296,220
03 AIE=20HdI 3,780 3,906 AN 126
OfIgEzz 2T AIE=20HYI
600,000,000& *0.63/100 3,780
g0l E5379 Ho 150,000 0 150,000
& 75,000
= 75,000
401 AIEHIZ 2] 150,000 0 150,000
= 75,000
= 75,000
01 Al&HI 148,920 0 148,920
OHE0IESFSEMH 148,920,000 * 14 148,920
= 75,000
= 73,920
03 A&l 1,080 0 1,080
O 02 7YIHE Al R0
150,000,000& *0.72/100 1,080
2N 24 68,310 54,628 13,682
X 24 68,310 54,628 13,682
101 el24H| 12,744 0 12,744
04 JI2ZtHZ22XNsSE+ 12,744 0 12,744
og= 35,2003 2552« 1H 8,976
Orasdg 35,2003 x522 x1H 1,831
Oy EI=E)) 35,2003 x 152 x1H 528
(O)SESE=, 35,2002 *302! 487 /365 1,409
201 LBt 3| 2,500 2,000 500
01 AtSR2t2ldl 2,500 2,000 500
O=&tl 2,500
oL AR HFFA OHAHI 2,500,000& 2,500
202 44| 3,066 2,628 438
01 =LHA b 3,066 2,628 438
Olged g2xa 3,066,000& 3,066
401 AIEHIZ 2 50,000 50,000 0
01 Al&H 49,460 49,460 0
ongsx 24 49,460,000& 49,460
03 AlE=20HdI 540 540 0
OlIEgsXl B4 A&2UbI
50,000,000 *1.08/100 540
HE2AHH (AL D) 74,139 88, 143 214,004
=2 74,139 88, 143 £14,004
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B chel(313) - HyS sk e B RS2
74,139 88, 143 214,004
22| 55,139 71,143 216,004
fzeltl 40,829 42,143 21,314
Oget=g| 33,829
o JIZAREEHI 70,0003 x20& *23] 2,800
OSMIORIED EHFY 225,000& +50H*43] 4,500
oZUZEIED EHRY
439,000& *1CH x4 48 %1, 53] 2,634
o ZEED ABF ¢ 50,000& »5CH*33] 750
o ZA EHFY 375,000 »1CH 33 1,125
o EAMEX 7 30,0003 x20Z 83| 4,800
od=ZR=ER 70,000& 128 840
od&ad Y 1,000,000& 1,000
OHEHEHEH 1,500,000& 1,500
odAJIH A S+ HA 55,0003 * 164 880
osS&EHE 2 7,000,000& 7,000
0 RNES +=EH| 6,000, 000& 6,000
O= &l 7,000
oBUARFEZI(S 7,000,000& 7,000
02 =234l 14,310 29,000 A 14,690
O232= ¥ HMAl 14,310
oRHEFY 2,000
-2 250& *1,00004 250
-1 1,750 1,0000H 1,750
OMOISEIEX 2&H =2 8,810
—SIHE =& 14,0003 652 X| 910
— =2 158,000& «50E X 7,900
o ELHX =2 350,000& «10Z X 3,500
202 O4Hl 19,000 17,000 2,000
LH 4 H 19,000 17,000 2,000
OEAARZ=ZHI(BS) 19,000,000& 19,000
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